e

O
[} 2] U A A0
Z )} U A N N —D
’7 — > [ AT AT
O m = ] = =
= 0 ~ 4 = Z o
B = m m m N
2l | - — z o0
O m — N
N- — = -~ 0 <
% — ™ ™ [
= A z — o
[ ™
o - — 3
= ~ -
O 0 U
= = -
™ m 3
o ¢ 0.00 2/3,55|p73,55 ULICA 11-GO LISTIPADA
o POCZATEK ZAKRESU OPRACOWANIA
08,20 273,36|273,49 2 WPUSTY UL. DO WYMIANY
n
\m —
o o
? AN
21,50 273,34|273,34
o |
NI
w
28,00 573270273 30]  Ai=0,015 R=1000m T=7,50m B=0,03m PROJ. 2 WPUSTY UL, N “
30,00 2/3.,401273,28 ‘
1
33,56 273,30]1273,30 | DROGA BOCZNA
35,50 273,31]273,31 “
|
39,92 273,34 | WJAZD BRAMOWY
|
|
|
|
|
|
|
57,67 273,46|27/3,4¢2 “ WIAZD BRAMOWY
59,37 273,43 ‘ WJAZD BRAMOWY _ | ‘
, \
62,69 273,45 ‘ WIAZD BRAMOWY |
64,29 73 | WJAZD BRAMOWY |
i
elg 2 ]
7o11] 2| 7 273,50|273,49 WJAZD BRAMOWY
=
>
75.60 = 273,51 WIAZD BRAMOWY
_
(]
79,18 o 273,56|273,53 ‘x WJAZD BRAMOWY ‘
[} T
- \
®
© \
85,88 38 2/3,96 n WJAZD BRAMOWY ‘
@
ul
91 37 573.59573 59 2 WPUSTY UL. DO WYMIANY @
95,40 273,63
() # 0.00
- 02.80 273,65 WIAZD BRAMOWY
03,60 273,66 WIAZD BRAMOWY
15,46 273,72 WIAZD BRAMOWY
18.00 2/3,76|2/3,73 WJAZD BRAMOWY |
TS, 27373 |
2147 07375 WIAZD BRAMOWY
23,73 273,76 WJAZD BRAMOWY
33,00 273,801 273,80
35.95 573,90 Ai=0,01 R=1000m T=5,00m B=0,01m WAZD ERAMOWY
38,00 273,83|273,82 DROGA BOCZNA
43,00 27/3,80]1273,80
01,40 273,76 WJAZD BRAMOWY
55,19 273,74 WJAZD BRAMOWY
57,24 273,72 WJAZD BRAMOWY
60,52 273,71 WJAZD BRAMOWY
62,32 273,86/ 27370
64,00 273,69|273,69
65,95 273,68|273,68 WJAZD BRAMOWY
69,00 2736627367 Ai=0,01 R=1000m T=5,00m B=0,01m PROJ. 1 WPUST UL.
|
73,40 273,84(554 calogn o )
T 273,84 i - ©
/2,00 ‘2
Ble
2\
o | =2
3
89,00 273,76|273,76 KONIEC ZAKRESU OPRACOWANIA
ULICA DLUGA
() # 0.00
N
< FIRBEE ==
- Ag 4=
o3 | 155133 | 2|3 =
(- Ale| 3 o 3
Q73 R HEEE
cCrsz = m % 22 |83a8 T
e 2g(¢| 3 < LS hﬁ" >
@ D~ | 283 < AT
m O §BZ o | oo $% &)
® g HEEIEIRTE
C 2 (28| 2|35 (233
= 8 |co >34
N m 92 Rieo &
= o] fa B
Z = < > oo | =
T 155|522 )520
—< > ; == ;a:
z|z s z £
e = § =N 3
et m |2 % g £
S|z M c I
SRR
siv| |2 dg|Rlg |g
S Z :
o |£ 2
s> o3
2 :
of| (885 @
| g 28| |®
2| |3 |23
$ g |5
= o £ S
8 3 g |3
g ¥ 28 g
g > Z
Z
AT B
o S m
= @ £ 8|S g
AN
: 2 = |29
=2 = (B
N B
=z 3 8 §
o 7 ol B 3
N g 2 @ E

vanad I ANZN1aOd 114044




